STANDARDS

Power Standard: 5.G.12 Identify and plot points in the first quadrant
EDM: 9e. Identify the base and height of triangles and parallelograms. 

Name ____________________________

Skill 69: Identify the base and height of triangles and parallelograms. Understand the concept of area of a figure.
	1.  
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FU

=

25 ft
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FE

=

13 ft


n = 21 ft

Look at the figure above.  Which number tells how long the base is? 

a. 13ft

b. 25ft

c. 21ft

d. 59ft



	
	2.  
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RY

=

53 mm


n = 45 mm
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UR

=

29 mm

Look at the figure above.  Which number tells how long the height of the parallelogram is? 

a. 127mm

b. 53mm

c. 45mm

d. 29mm




	3.  
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n = 16 cm
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RV

=

5 cm
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VU

=

21 cm



	Look at the figure above.  Which number tells how long the base is? 

a. 16cm

b. 21cm

c. 5cm

d. 26cm


	4.  
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n = 4 mm
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FE

=

5 mm
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FH

=

4 mm

Look at the figure above.  Which number tells how long the height of the parallelogram is? 

a. 4mm

b. 5mm

c. 8mm

d. 9mm




	5.  
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n = 15 mm
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NV

=

16 mm
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TV

=

27 mm
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NT

=

18 mm

  
   

Look at the figure above.  Which number tells how long the base is? 

a. 15mm

b. 16mm

c. 27mm

d. 18mm



	
	6.  
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SQ

=

8 cm
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GS

=

8 cm


n = 6 cm
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GQ

=

7 cm

     

Look at the triangle above.  Which number tells how long the base is? 

a.  8cm

b.  6cm

c.  7cm

d.  16cm

	7.
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CY

=

10 ft


n = 16 ft
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YJ

=

17 ft
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CJ

=

23 ft

     
Look at the triangle above.  What number shows the height of the triangle. 

a. 10ft

b. 16ft

c. 17ft

d. 23ft

	8.  
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PR

=

110 in
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QP

=

101 in


n = 75 in
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QR

=

78 in

     

Look at the triangle above.  What number shows the height of the triangle. 

e. 110in

f. 101in

g. 75in

h. 78in


9.  Harold’s sign is in a shape of a triangle.  He wants to ensure that he buys enough paint to paint the triangle.  Explain how he should figure out how much paint he should buy? 

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

	10.  
	[image: image28.png]



Regular polygon NFCTZAKE:
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EN

  =  

8 cm




Explain how you would go about figuring out the area of this polygon?  

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

